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- (Write your Roll No. on. the top immediately on receipt of this question paper.)

Note : Answers may be written either in English or in Hindi; but the same medium should be
- used throughout the paper.
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anrds for compilation of result.
Aﬁempt All que.stions.
Marks are indicated against each question. |
ity aﬁaﬁ 4 |
& Y R T R Iw kd ™ ¥

P.T.O.



(2) 1462

The Sonal Chemicals Co. supplies you the following details from its Cost records :

Particulars . . Rs.
Stock of raw materials on January 1, 2014 1,50,000
Stock of raw ma.tcrials on 31 January, 2014 1,80.000
Direct wages : 1.05,000
Indirect: wages : 6,000
Work-in-progress 1.1.2014 56,000
Work-in-progress 31.1.2014 70,000
Purchase of raw materials ‘ 1,60;000
Factory rent, rates and power _ . _ 30,000
Depreciation of plant and machinery 7,000
Carriage inward 3,000
Carriage outward ' | 2,000 °
Advertising 5,000, °
Office rent ' 10,000
Travellers wages _ | 12,000

" Stock of finished goods on 1.1.2014 (1000 units) | ' 54,000
Stock of finished goods on 31.1.2014 (2000 units) ?
Bad debts . | 1,000
Interest on the hire-purchase instalment 2,000

Prepare a Cost sheet giving the cost and profits. The company wants to have a profit

of 25% on cost. The units manufactured during the month were 10,000 units. 11
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Or
(3eram)
" (a) The following are the particl.JlarS relating t;) a Comract which has begun on 1 January,
2011 :
Particulars ' Rs.
Contract price 500000
Machinery sent to site 30,000
Materials sent 1,70;060
. Wages paid 1,48,750
Qimct expenses 6,300
| Outstanding wages 5,380
Uncertified work ' 9,000
Overhéads | . | | 8,240
Materials returned to stores _ | | 1,600
Materials on hand 31 December, 2011 | | | 4,000
Machinery at site on 31 December, 2011 | 22,000
Value of work cprtiﬁcd . 3,90,000
Cash received ' 3,51,000

. Prepare the Contract Account for the year 2011 showing clearly the amount of profits

that may be taken to the credit of P & L Account of the year. '8
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5,00,000
30,000
1,70,000
1 ,48,7.50
6,300
5,380
9,000
8,240
1,600
4,000
22,000
3,90,000

3,51,000
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(b)) What do you mean by abnormal loss in process cost ? How will you calculate

it?

3
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Product X is obtained after it passes through three distinct processes. You are required

to prepare Process accounts, Normal Loss account, Abnormal Loss account, Abnormal

effective (gain) account and Profit and Loss account.

50,000 units @ Rs. 100 per unit were introduced in process 1.

-~

Process 1 Process 2 | Process 3

Material (Rs.) 50,000 75,000 25,000

_ Labour (Rs_.) 1,5-0,000 .' 4,00,000 3,25,000

Overheads (Rs.) 30,000 90,750 1,36,000

Actual output (units) 46,500 27,000 10,500
Normal loss (calculated on input

- . of each process) 5% 15% 20%

Value of scrap (Rs. per unit) 10 25 50-

Selling price per unit of output (in Rs.) 600 825 1,250
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Management expenses during the year were Rs. 4,00,000 and selling expenses were
Rs. 2,50,000. These are not allocable to the processes. Two-third of the output of process
A and one-half of the output of process B was passed on to the next process and the

balance was sold. The entire output of process C was sold. 11
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Or
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A person owns a bus which runs between Delhi and Salasar and back for 20 days in
a month-. The distance between Delhi and Salasar is 330 km. Calculate the rate to be

charged from a passenger when the owner wants to earn a profit of 50% on his takings.

The other particulars are given below :

Particulars _ _ l Rs.
Cost of the bus ' | | 50,00,000
Salary of the bﬂver (per month) _ 20,000
Salary of the Conductor (per month) | ' 10,000
Insurance (per annum) _ : _ | 50,000
Token tax (per annum) 30,000
Repairs (per month) 20,000-

The depreciation is 20% per annum on cost. The Diesel consumption is 6 km per litre

costing Rs. 54 per litre. The normal capacity of the bus is 50 passengers. The bus is

generally occupied 90% of the capacity. | 11
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Calculate machine hour rate for the recovery of overheads for a machine from the following
information :

The cost of the machine is Rs. 5,00,000 and estimated scrap value is Rs. 20,000 after
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its working life of 10 years. Annual working hours are 3,000 in the factory. The machine
is requi;'ed 400 hours per annum for repair and m_aint_enance. Cstt of repair for the whole
working‘ life of the machine is Rs. 70,000. Power ﬁsed is 15 units per hour at a cost
of Rs. 10 per unit. A chemical is required for the machint; at a cost of Rs. 10,000 per
annum. Wages of Opemto£ IS Rs.' 15,000 per month. The opcratorl devoted 1/3rd of his
time to the machine. Annual insurance charge§ are 5% of the cost of mac_:hine. Lighting
charges for the department are Ré. 10,000 per month having 40 points in all, out of which
only 8 points are used ét this. macﬁine. Other indircct.expensés chargeable to the machine
are Rs. .1,300 per month. | 11
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(3
Show how the items given bel;')w relat.ing to purchases and issues of raw material will

appear in the Stores Ledger using LIFO, FIFO and Weighted Average Methods of pricing

the materials issues. ' 11
2014 Particulars Units Price per Unit (Rs.)
Jan. | Opening balance 3000 | 20
Jan. 5 - Purchases . 2,000 22
Jan. 11 Issue | 1s00 ?
Jan. 22 Purchases . ) 2,000 23
Jan.. 24 o . Issues 1,500 ?
Jan. 28 .Issue | 2,000 ?
Jan. 31 | Shortage 50 ?
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(@) Explain the reason for the disagreement o_f profits between Cost books and Financial

books.. - 4
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(b) Differentiate between periodic and perpetual inventory system. 4
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() Distinguish between allocatio;n and appprtionment of overheads. 3
wferd & fafem o e # s SR
Or
(3r=)
(a) . From the following data, calculate :

() Break-even point in units ' 2

(if) What should be the selling price per unit if the break-even point is to be brought

down to 4000 units ? _ 3
(i) How many units must be solci to earn a profit of Rs. 1,00,000 ? 3
| Direct Material ' Rs. 40 per unit
Direct Labour | _ . Rs. 30 per unit
Variable overheads | 100% of direct labour
Selling price | Rs. 200 per unit .

Fixed overheads Rs. 5,00,000
frfafea slegl ¥ i FifC
O ww-srey fag il #

PT.O.



( 14 ) 1462

(n)_uﬁqﬁzfamaﬁnamﬁmﬂﬁm—mﬁgﬁm—

# 4,000 PR W @ &

i) 100000 T F T E A B foe, e P B A ey 2

ey e | 40 % ¥ gfr
v o - 30 % WA A
wRad suiea | . WaH oM W 100%
faa wima - 200 % W gfE
W 39RAg - 500,000 %. |

.(b) What do. you mean by margin of safety ? Explain. 3
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5. (a) Whatis labour turnover ? How is it measured and how is it calculated ? Also explain
the treatment of labour turnover in Cost Accounting. 6
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fpm o1 § 7 oW W@ERw H s e @ fRd yer @@ sm
€ 7 wHEEd|

(b)) What do you mean by Budgetary Control ? What are its advantages ? 5
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Or
(1)

For the production of 5,000 electric automatic irons, the following are the budgeted

expenses : 11
Particulars Rs.
bir&f Maierial 60
Direc;t Labour 30
Variable factory overhead 25
Fixed factory overhead (Rs. 1,50,000) 30
Variable expenses (direct) -5
‘ Selling expenses (10% fixed) . 30
Administrative expenses (Rs. 50,000 rigid for all levels of production) 10
Distribution expenses (20% fixed) 10
The total cost of the sale per unit 200

Prepare a_budget for the production of 3,000, 3,500 and 4,000 irons showing

distinctly per unit cost and total cost.

P.T.O.
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